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EXERCISE # 1 

A.
 
Q.1 

 ? 
 
Q.2 

? 
 
Q.3 

PbS(s) + 4H2O2(aq)  PbSO4(s) + 4H2O(l) 
 
Q.4 " 

? 
 
Q.5 

 ( ) 
 
Q.6 

? 
(i) 

(ii) 

 
Q.7 

SO2(g) + 2H2S(g)  3S(s) + 2H2O(l) 

(i) 
(ii) 
(iii) 
(iv) 

 
Q.8  - 

(i) 
 ? 

(ii) 

(iii)  ? 
 
Q.9 

(i) CaCO3(s)  CaO(s) + CO2(g) 
(ii) 2AgBr(s)  2Ag(s) + Br2(g)  
(iii) 2H2O(l)  2H2(g) + O2(g) 
(iv) Zn(s) + CuSO4(aq)  ZnSO4(aq) + Cu(s) 
(v)  Na2SO4(aq) + BaCl2(aq)   

              BaSO4(s) + 2NaCl(aq) 
(vi) CaO(s) + H2O(l)  Ca(OH)2(aq) 

 
Q.10 [A] : 

(i) CH4(g) + 2O2(g)   
           CO2(g) + 2H2O(g) + Energy 

(ii) 2AgBr(s)    2Ag(s) + Br2(g) 
[B] 

 : 



 Edubull

(2)

6V
Battery 

(5)(4)

(1)

(3)

(i)    1  5 
(ii) 

 ? 
(iii) 

 ? 
 
Q.11  ? 
 
Q.12  (skeletal) ? 
 
Q.13 
 
Q.14 

 
Q.15 

 ? 
 
Q.16 

NaOH + H2SO4  Na2SO4 + H2O 
 
Q.17 

CuSO4(aq) + Fe(s)  FeSO4(aq) + Cu(s) 
FeSO4(aq) + Zn(g)  ZnSO4(aq) + Fe(s) 

 
Q.18  (s), (l)  (g) 

 
Q.19 

FeCl2 + H2S  HCl + FeS 
 
Q.20 

B.
Q.21  ? 
 
Q.22 

- 
(i) 
(ii) 

ZnO + C  Zn + CO 
 
Q.23 

 ? 
Q.24 

 ? 
(i) MgSO4(aq) + Zn(s)  ZnSO4(aq) + Mg(s) 
(ii) CuSO4(aq) + Fe(s)  FeSO4(aq) + Cu(s) 

 
Q.25 

 
Q.26 

 ? 
(i) FeSO4(aq) + Zn(s)  ZnSO4(aq) + Fe(s) 
(ii) CuSO4(aq) + Fe(s)  FeSO4(aq) + Fe(s) 

 
Q.27 

 ? 
(i) 

(ii) 
 
Q.28 

(i) A + BC  AC + B 



(ii) A + B  AB 
(iii) AB  A + B 
(iv) AB + CD  AD + CB 

 
Q.29 

? 
 
Q.30 

 ? 



EXERCISE # 2 

A.
 

Q.1 
(i) CuO(s) + H2(g)  Cu(s) + H2O(g) 
(ii) Fe2O3(s) + 3CO(g)  2Fe(l) + 3CO2(g) 

(a) 
(b) 
(c) 
(d) 

 
Q.2 

(a) 

(b) 

(c) 

(d) 

(e) 

 
Q.3 

(i) S(s) + H2SO4(aq)  H2O(l) + SO2(g) 
(ii) S(s) + HNO3(aq)   

      H2SO4(aq) + NO2(g) + H2O(l) 
(iii) Fe2O3(s) + CO(g)  Fe(l) + CO2(g) 
(iv) KMnO4(aq) + HCl(aq)   

 KCl(aq) + MnCl2(aq) + Cl2(g) + H2O(l) 

(v) MnO2(s) + HCl(aq)  
 MnCl2(aq) + H2O(l) + Cl2(g) 

 
Q.4 

-I -II 
1. (a) CaCO3(s) Heat

 CaO(s) + 
CO2(g) 

2. (b) AgCl(s)  Sunlight

              2Ag(s) + Cl2(g) 
3. (c)Na2SO4(aq)+BaCl2(aq

)   
BaSO4(s)+2NaCl(aq) 

4. (d) Pb(NO3)2(s) Heat

2PbO(s)+4NO2(g)+O2(g) 
5. (e) Pb(NO3)2(aq) + 

2KI(aq) 
PbI2(s)+2KNO3(aq) 

6. (f) Zn(s) + CuSO4(aq) 
  ZnSO4(aq)+ Cu(s) 

7. (g) AgNO3(aq) + NaCl(aq) 
AgCl(s)+NaNO3(aq) 

8. (h) CaO(s)+H2O(l)
Ca(OH)2(aq
) 

9. (i) SO2(g) + O2(g) 
SO3(g) 

10. (j) C(s) + O2(g)   
 CO2(g) 

B.
 

Q.5 
………… 

 
Q.6 ………… 



 
Q.7 

………… 
 
Q.8 

………… 
 
Q.9 …………
 
Q.10 Fe + CuSO4  FeSO4 + ………… 
 
Q.11 ………… 
 
Q.12  (aq) …………
 
Q.13 

………… 
 
Q.14 

………… 
C.

 
Q.15 
 
Q.16 (lime) 

(quick lime) 
 
Q.17 
 
Q.18 ( ) 

(Black & White) 
 
Q.19 

 
Q.20 

Q.21 
 
Q.22 Zn(s) + CuSO4(aq)  ZnSO4(aq) + Cu(s) 
 
Q.23 
 
Q.24 




